stress test

3.

T w4

=

mlo
rlo
o

J1=H?

@ (—a?)? x (2b)® = —4a*V?
@ (-3y)? x (—ay)® = =32%y°

@ (—xy)? x 22y = 222y?

0 (2)'<(2) -4

@ 0;2 X (-2[))2 X (],3 = 4a5b2

ot

jille

A]
al

filo
ret

s @ A F A YL AL

bies

2
wy) = 9x2y*

@) (—2x2y)3 X (21‘y)2 = 32x8y5

@ (—22y3)2 + (

L =

@ —4(.%2)2 =924 = 9
@ 223 x (—322) = —62°

® 1622y + 22y x 4r = 3222

6z -3y wx+4y 4r—5y

2 3 6
® 2z +2y @ 2z -2y ® z+y
@ z+2y ® 224y

Da=-1,b=1
@ a=0b=1

®a=2b=-1

5. ojd thAloA 2z + 5y S wjojof g A& FFs}o]
HEEY 62 + 2y 7} HSich. o] uf, vh2A] Ak &

=7
O 8z+dy @ —dw+6y O —22+6y
@ 2z -8y ® 8z +2y

O —22% — 2y @ —22% — 1lzy
® 8z2 + 1lay @ 822 —xy
® 22+ 2y
7. 222 +3r—-1)=ar®+b2’ +cx € W, a+b+c
@2 (HFha,b,ce=dF)
®-6 @-3 ®-1 ®o0 ®1
8- thg A 1a(20—3)2 2l shuo
1 3 1 1
_ g2 _ = _ g2 Z
® 1910 @ 19— 19
1 3 1 3
@ 5@2—161 @ §a2+1a
1, 3
© 50—




9. A (Br-2y—1)—(z—3y—4) & WA 5HA?

@ 2x-3y—5 @ 2z —-2y—5
@ 20 —2y+4 @ 2z+y+3
® 2x+2y+3

]_O. 12820,71 = 16a+2 — 830,74 % E]_]-é_g]gi a 94 %}:% _?3]_

ofzt.

rEl
I
st

o, & A, B, C, D, E 2| gk°]

o i
-9 m‘o

rC o
PR

[*]
-

Q@ 4(2%-37)—(32°—62+7) = Az’ +Bx—T7
222 — 3z +1 x2—2z+3_

© 2 3

6
® A=1 ® B=-6 ® C=4
@ D=-5 ® E=3

15. 2= —2, y—5 % 1, TS A9 ghe otolat.
3xy




o, a o] Aot Aol 527

@ 21 @ 15

@ —15 ® -21

19.

AR E2?

® —4x -2y -8
® 2z —5y—8

® 8x —4y+7

20. 43y — 8x2y?
3x(x_y)+u
—2zy

AsE Fstolet

of® ttFA oA 22 — 3y + 55 T dflof &)
sto] WiQIE Y 4z + 2y — 3°] HSIth o] o, HZ 7

& A

@ —2x—-5y+8

@ 6x—y+2

18. 4] (a® — 2a +4) — (—3a® — ba + 1) & FHs] 5F3L

12

ftlo

pAanE
X

21. w4 (3z -
Eofa},

y) : 2z —4y) = 2 : 3 & y °f Tt

[e]
292. _1_:’1__1_3_/;} 5100 < 1,2()() < 4300 =2

NaE F-atefet.

RHESHE A4 2l

23. 4% a. b, ¢, d ol Hste] thg B4 atb—3c+3d
o gk Fsteler.

H7
& o[22~ (y—32) — {2 — (32— y)}] =
ax + by
© sy~ 2y 2w —9)— {or — (e - w) |
=cx+dy

24. F Yz, yol tol «, A S wxy = 8wy +4ay®) +

2zy , zAy = (122%y — 822%y) =+ 4oy 2 AT o,
(z*y) — (zDy) o] zhe?
(zxy) + (zhy)

6y + x 6y —x 6y —x

6y +x 6y —x 6y +

6y + x Jy—=x

6y —x 3y+x




25. AR (21, 1), (22, y2) ol HHSFA (21, y1) x
(22, Y2) = T1@2 + T1Y2 + Y172 + Y1y = AO] TTh

ol uf, (2z, y) x (—y, 3z)S Frcks] opA?

4
1

@ 76$2+2l’y7y2 @ 76I2+I’y+3y2
® 222 —xy —y? @ 622 + xy — y°

@ 622 —,’L‘y—|—3y2




